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fader —

1. W Fe7 Fer sfqard &/

2. FOT BHHB 01 § 05 TF TeGIT F99 &/ TegI10 J97 & FoT 5P 25 &/
3. §AF g 1—1 3 HT &/ T 1X5 = 5 3P

4. T HHG 06 & 10 TF FAF 2 3F & g97 &/ 5 7 30 I7 8/

5  FT HHE 11 F 14 TF FAF 3 3F & §e7 &/ I A 75 I=7 8/

6. T HHIF 15 F 21 TF JAF 4 3F & F97 &/ I 7 120 I &/

7. 9T HHIP 22 G 26 0P UdH 5 3P P FIT 8/ I AT 150 Tg &/

INSTRUCTIONS: -
1. All questions are compulsory.

2. Q. Nos. 01 to 05 objectives type question objectives type question are total No.
Marks 25.

3. Per Q. 1-1 marks 1x 5 = 5 marks.

4. Q. No. 06 to 10 carries 2 marks. The word limit is 30 words.

5. Q. No. 11 to 14 carries 3 marks. The word limit is 75 words.

6. Q. No. 15 to 21 carries 4 marks. The word limit is 120 words.

7. Q. No. 22 to 26 carries 5 marks. The word limit is 150 words.
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IR g — (25%1=25)

Objective Type Questions -

U1

U2
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Gl R WRI — (1x5=5)

Fill in the blanks:—

Lo e AT SHISAT BT AT ¢ |
.......................................................................... studies the Individual unit.

71 1° B | K T MR RIS K11 e 21 B g
On increasing of effective demand employability level is................coooiiiiinn.

3. TAFTIT BT ARTH AT BT oo P 2 |
Medium of Exchange isthe ... function of money.

4. Fa1 a8 GO0 & D ART R 3T TR e 2 |
Money is the Pivot round which the economic science............c.cooooiiiiiiiiiiiiiinan,

B e IR <hT BT TGI PR 3 |
..................................................................... is a main cause for trade cycle.

T /3 falRad— (1x5=5)

True in False:—
1. YRd WeR ¥ g faggs dad g 9491 § U9 fohar e 2

In India money (finance) bill is present in Rajya Sabha only.

2. qolc § WRERT FUl BT Seeld BIdT 8 |

In budget government loan is mentioned.

3. WRA ¥ I YUTEN 39S o bl 2 |

In India zero budget system is accepted.

4. YRd ¥ ol goc AT gofic & Al 8idm 2 |

In India rail budget is Included in general budget.

5. WRd Aqd dle] @I H °91C BT AFAT R &7 T |
India is facing deficit in current account.
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U3 el Sl §ARii— (1X5=5)

Match the following:—

A B
1. YT Aol 1. ®dcl g Al Bl AL BHRAT
Balance of Payment Includes only visible items.
2. UR AJe ol & | 2. G Ud 3Ig¥Y Hal Pl WAl BT
Balance Trade Include visible and Non visible both items.
3. WRA BT gIraH 3. IR<dd A
Payment of India Real Price
4. 9NIR dHEd 4. Feq Ufdad
Market Price Always non- favourable
5. #oigdl BIY g 5. Hal &I Hy wfdd
Principle of wages Purchase efficiency of money
6. . Ud. fial
J. S. Mil.
Y4 U®H Bl 9rag H IR & — (1X5=5)

Answer in one word/sentence i—

1.
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RIS Hd F gal?

When Public finance became popular?
AMINTG o™ & RIga &1 gfaared feaq faar?

Who gave the maximum social benefit principle?

3T 9T fhddT 32 77

Whose objective is to increase income?
Je] R BT U ISTeX0 §I7

Give one example of Direct Tax.

RT ¥ AP HYNT SATSh N9 bl <19 Id131?

Name the state having highest production of cotton in India.
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el faddon g forfau— (1X5=5)
Choose the correct alternatives:—

1. QiRg® Jreat &1 fagm g —

(A) 9Tt (B) R
(C) ItpT (D) R
Statistics may be called the science of averages -
(A) Bowley (B) Marshall
(C) Kafka (D) Smith
2. e 991 YR @1 A9 & —
(A)  =Uer (B) ATUeET
(C) < (D) TH I el
Index Number is a measure of-
(A) Absolute (B) Relative
(C) Both (D) None of these
3. @R A i AT 2?
(A) T (B) A
(C) = (D) oM™
Which is wastage Income?
(A) Rent (B) Wage
(C) Interest (D)  Profit
4. W B D A THE U Tl 27
(A) TP TH (B) omfefd e
(C) 3T 7T (D) del oI
Which rent is not applicable on land?
(A)  Contract rent (B) Economic rent
(C) Quasirent (D) Total rent

5. 3w o @1 AgRer —
(A) gd A i Jr 9 @ arTdl & e WR R BT '
(B) oTEY ¥ (C) SUSTd (D) |HsiAT 9

Economic rent is determined by -

(A) Difference between payment made to or for a factor of production and cost of
land.
(B) Agreement (C) Production (D) Partnership
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uvz

9.8

9.9

v.10
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qaT 1 & GRATR &7
Write any two definition of money.

34T / OR
IR® d% BT A8 foral (@l Q)

Write any two points of the importance of Commercial Bank.

JoIC BT Blg &1 ARETT foran?
Write any two definition of Budget.
3Udr / OR
JfaRad Ioic &1 M qamRl |
What is meant by surplus Budget?
qeg—fafra &1 afkvmen forar?
Define Barter.
3gdr / OR
Y a1 g9 & i aat T8 FEd 87
Why gift or charity are not considered as exchange?

faavor & Rigid & < a9 foran?

Name the theories of distribution. (any two)

3edT / OR
faavor @1 gRymar 17

Give a suitable definition of distribution.
TR FHMTOR AT A T JIYTT 27
What is meant by weighted mean?

3141 / OR

o o

e 9He fhy wed 27

What is the meant by secondary data?
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U.11

912

U.13

U.14

U.15
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e B B Dls I T[0T FATAT?
Mention any three merits of direct taxes.
3141/ OR

Ucge] B b hlg diF SIY gdrei?

Mention any three demerits of direct taxes.

o fog dem adeae fog @ 39 gaHar forar?

Write any three similarities between private and public finance.

31491 / OR
oG @ Hed & forar?
Write the importance of revenue.
GG EIRCAERIE IS GIDAC RIS 6
Write any three limitations of statistics.
3141/ OR

IR AR 9y farel? (791 siids! & ford ucuer fafr 4

Find out arithmetic mean for the following data by direct method.

Marks 50 o1 52 53

No. of students | 1 2 3 4

fdenes @ faevdri foar (@18 )

Write any three characteristics of Index Number.
3141 / OR

AR Fe2d B G WL BRI?

Explain the formula of the simple Index Number.

IRe A9 &7 SUAAAT, Y, Agcd 31dT a9l Bl fora?

Write the use, Merits, profit, importance or need of Micro economics.
3141 / OR

Tafte 7o &1 A8 ford |

Write the importance of Macro Economics.
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U416 IRFERMETGT Rigrd & Araand forar? 4)
Write the assumption of classical theory.
31e0dr / OR

AIA® AT & BRI BT T B |
Explain the causes for excess demand.

917 golc 99 @I Uishar & aR fa=g forar? (4)

Write any four point of Budgetary procedure.
31e0d1 / OR

Jolc b UPRI P T B2
Explain the types of Budget.

U.18 WRd H §s UM & SN & o9 g1y | (4)
Write the advantages of large scale Industries in India.
3141 / OR

g hl Hecd WSS VT |

Write the importance of TEA.
U149 TSR A P GRFTET BT WL HRA g WL B b A1 aRATrst § I AT giRHmem

3regT 87 @)
Write the definition of National Income. Which one is the best definition out of three?
34T / OR

TSR 3T Hh e Dl W< B |
Explain the importance of national Income.
¥.20 A Federd BT 3fef T FRI°7 Yd aiReTeTg fora | (4)
Write the meaning of balance of payment and the definitions of Balance of payment.
31491 / OR

YA gl &I Ufdderdl Bl Sid B & U Iral?

Write the methods for correcting adverse balance of payment.
U421 YA Aol Bl Al Bl WL DN | (4)

Explain the items of Balance of payment.
31e0dr / OR

faeeh faffg &1 9= TR &1 FuRo ©F a7 87 ayse |

Explain the determination of Equilibrium rate of foreign exchange.
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Y22 WTEl Ud ARG Bl § 3R gare | (5)

Explain the difference between food and commercial crops.
3141/ OR

IR H 3R TUS LIl hHAT B DS ITDBI0T b BRI fordl |

Write the reason of localization of Iron and Steel industry In Bihar.

g23 9Nk dHd R A€ @] I (NDOyp) T |RM dNd WRfIgE ove 3T

(NDPgc) H 3R 9l | (5)
Explain the difference between NDPyp & NDPgc
AU /OR

ol My 3R Jyfddd My § 3R forar?

Write the difference between Private & Personal Income.

¥.24 fIaRor @7 AFRmell &Y forar iR =N | (5)

Write and explain the problems of distribution.

31741/ OR
e ST DI HH AT & BRI Bl for@r?

Write the reasons of less wages to child labourers.
U425 HAY T@ & AR WR Yol YRAIRar § Jed &1 ek &3 g &7 (5)

Under perfect competition how is price determined on the basis of elements of time.
3Aq1 /OR
9 fafera gormell & ™ 9arsd A1 9ISy |

Explain the advantages of Barter system.
U.26 AHT AT & YHRI Bl W< B | (5)

Explain the types of aggregate demand.

AT/ OR
AR fRIerd Ud &I & Rigra # 3y foran|

Write the difference between classical and Keynesian theory.
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